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3D Object =4k
Name of prism

AR AR
Shape of faces

Sk kiR
Number of faces

& & A4

— Set A - Mixed Mentals

1.43+26+9 = C]
2. 2hundreds + 6 tens = D

9. How many days in March? Q
10.The sum of 35, 23 and 18 is

11.720 centsis $§ [:]

12. Name this 2D shape.

Unit 1

Set B - Numeration 12

13. Twenty past three in digital time is D
14. Wiite 87 in words.

Set C - 3D Space 9
Compilete the table about prisms.

1. Arrange in ascending order:
321, 213, 312, 231, 132

)L

2. 7 hundreds + 6 tens + 2 units = D

4. How many tens in §36? C]
5. The place value of 7in2710 = [:]

6. Arrange in descending order:
537, 735, 357, 783, 573

LU
7. Which is larger. 8 hundreds or 7867 C}

8. What is the value of 3 in 3767 D

o.301, 81, 32, [ [ [ ]
10.How many hundreds in 764? [j

-

3D
Object

Name of
Prism

Shape of
Faces

Number of
Faces

N -



Set E - Addition 7

1.24+8=© .
236+22=D ’qu*

Set D - All Soris
1. The Roman numeral for 23 is [:J

2. Divide 12 into 4 equal groups [:]
3. How many 10 cent colns in 70 cents? D

4. Write 93 in words

5. The place value of 6in 461 is B

6. 35lessthan 78 =

7.8Io‘rsof$5=$[:]

8. Tkg Costs $1.50; how much for 3kg?$ |

7. Fifteen more than 64 is D

5.$8.50+5410=5 |
9.73 + @:84

10.The sum of 36 and 42 is [j
near6+9= |

12.C]+ 15+ 12 =47

13.Total of 43, 37 and 14 (|
14.14 + D:za

15.Add 32 16and7( |

5. The number before 386is |

10. How many sides has a triangle? [j
n70. 60,60 [ ) [ ] 20

12. True or False: 56 is an even number? m

13. How many 3's are in 217 D

14, What is seventy-eight in numerals? D

.

Set F - Length 10

1. Measure the length of each line to the nearest centimetre.

a. cm
: [ e
: e

: e

2. Use aruler to draw lines of these lengths.

\\é\\\

£, \e
a.8cm . . §
b.2cm .

c.5cm .

L )

DLE-F &%
L BHNNSIHTEE

2. 29N matn, 84
E___O

3. INEBESBHLTI0
59

4. 93FE

5. 461P My uER

6. HG78/D358%=_

7. 8755T=___ TTo

8. ¥EHYRBRFERE
1.507T, RIFRBER/ND
§®? __ 5T,

9. 3B6MYRI—THE .
10. — T =@BlEN&KL?
12. HIMNHEE: S6E®B%.
13. 21 8Z/D139

14. t+/\B4

E{B-hn3% s 7
3. 175460980 =,
4. 28h040=___,
7. LA+ ENYE
8. 8.507T+4.105T=__ JTo
10. 36542008 .
13. 43,37, BRI .
15. 32, 16, 74810=

FéH-HK 10
. NETIEBONKE.
ERBEX,
2. BERAFBHKES
Hjﬁ&o




FZBXT

a8Ah
2. y\§+8|++7\—
4 67&48_ 0
9. +RHBBEZDXY
10. 53, 14, SMIRE _ .
1. 5205t=___%»
12. BHETTLTEBENRS
o
13, —TARBER/DS?

BtA-E X IEHY
2. 56EVANER.
3. hoO/D32IM=_
8. 46@%23=
12. ARBEESR.

o

C4A-Tm E 214
. ARGETENBLEE
B, RERA. 12KER
XO
smaller 4%/~
right angle
larger #& Kk
2 ATESENSNEE
R, REXER.
a WEAK
b. tEERANM
¢ BfA

A

Unit 2

——— Set A - Mixed Mentals

19 SUb GCﬁon 9 A
38 ] ‘f_— j %I Bh:j‘ fr

1.79-12=
The difference between 56 and 14is;'

er——— |

2. 5 hundreds + 8 fens + 7 units =/ ; 2
3. 20, 25, Cﬁ 35,40, . ,ﬁﬁ 3. 32 less thorj 0=
N 427-13=
4, 67 less 48 = L 82 77 3
59x6= J 5062- = . @
6. - 5 27
6. @ +5=7 : ‘ Gl S
S 7. 23-19_
7. éx' \_18 g % ‘ : S
— . 8 Take 23 owcy from 46 w
8. 90 - 48 =/ i L
— S C972-22=1
9. How many days in October? ‘ S
i S 10. 90- ‘=40
10.The sum of 63, 14 and 8 is! 11,38 ]9 _ s
1.95.20 = D cents 12.Complete the subtraction wheel.
12.Name this 2D shape. () : T
anl o
13. How many minutes in an hour? | ; (127
\___./ ; -1 63- P
| R

14. Write 143 in words. ‘

Set C - 2D Space 14
1. Label the angles as smaller than a right angle, a right angle, or larger than a right angle.

N T N

2. Draw the following angles from the lines drawn below:
b. Smaller than a right angle

a. Larger than aright angle c. Aright angle

& -



e Set D - All Sorts

1. The Roman numeral for 50 is’

2. Share $28 between 4 people. $ o

3. How many 50 cent coins in $3.00? 7

4. Write 170 in words.

1. 7x3=;‘

3Jx8 48

5. Whatis the value of 8in 8172

6.93 - =58

7. 4 lots of 12_1

8. 1 dozen cakes cost $6.00. 7
How rmuch for 1 cake?

9, ‘/ ‘ is the number after 413,

10.A hexogoncﬂ prism has

. 7.14, 23,

.

12.True or False: 100 yrs =1 decode”

13.How many 8'sin 64’?1

14, Write three hundred
and twelve in numerals.

faces.

6.7x8=

7. Multiply 7 x 9 =
i .
i 9.3X]0=;
0 ﬁx2=36

SetE - MuII'IpIiccﬂlon 6

8. The product of 5and 6 is(‘

Unit 2

e SetF - Area 7
Colour areas that are equal. (Use a different colour for each group.)
a. 100 cm b. 250 cm
40 cm
40cm 20 cm
100 cm C. d.
40cm
80cm
e. 400 cm
25¢cm
f. 500 cm
20cm |

DER-B # 45 3)
1. SOHNMNBPESHFZE

2. B8 DLEAT A

BA_ T

3 300TPBEZHDTS0
2%

4. 170i%4/E o

5. 81I7p 8y M I H 2
7. 4M2=___,

8. WJEE6.007T, MTEE
LIS

9. 2435 —TH.
0. —TABEES_ T
ED

12. HIBFIER:
1089

13, 64PFE BT8P
4. = =

100 =17

E4H-9& ;% 1= E6
4. 35120988 o
7. 759183k =
8. 556MIRE___ .
12. MRETEHE.

FeH-TE FR7
BTIBRPERESENNG
ae (FERENEER
AENHEE) .




=B

MA-ZEEH
2. /I +H+2T—=__
9. RAFBNHXS
10. H90/b5omyM=_
N. 2.005TPBEAN205?
12. 38, 17, 5089002 o
13. BEXTTEEENER.
14. 304i%E__
B{R-PRILIE W6
1. K63 M7E, FEAR

—

2wy, SEH_ .
P A
4 WOTHHMIOE, AR

5. 50pEBDTE?
R __
6. BS0WIIDR74E.
|ER R
7. 60PEBHTE RERD
me_ R _

CiE-i &5
1 BRRTRREBHHELSE
BOER. F—REMNE x 69
WHAFER, (BF8a. b,
¢, d, eDBRMAENNGB
£, )
a @L2ag, @E3ME, TUK
- 2WE?
b. BTG, AZ2A8. TRUK
HH2M&E?
¢ BHEERFENMUE,
d. BHEAFTEMNE.
e @L3MG, QBEUE. TUK
AH2B&E?
bleach Eé&#
Washing powder LR
Washing liquid 34
stain remover % iF#|
fabric softener #R#%%4KH
iron spray # A&
pegs Rk
flour @4
sugar #
rice X#
pasta & KA@
cereals £AK
bread crumbs @& &L&
corn flour K4
balloons % ¥k
lollies #si%
choc. I5EA
crackers & 71 R4
nuts K
chips ¥%
dip K&K
conditioner P4 &
shampoo K &K
toilet roll 4K
tissues #TP
soap ML
powder A#
juice Xt
milk 445
cola “THK
orange #&-F
lemonade 451t
ginger beer £%
soda water FR4TK

™

_

Set B - Division 6

— Set A - Mixed Mentals

1.37+29+26=©

2. 9 hundreds + 4 tfens + 2 units =[:]

3. 100, 98, 96,@,@, 90,[:]

4.@—47:36
5 12x5=
6.36+9=
7.©x7=56
8.39- 18 =

9. How many days in a for‘mighf?@
10.59 less than 90 =
11.How many 20 cents in $2.00?

12.The sum of 38, 17 and 50 is
13.Name this 2D shape. Q

14.304 in words is

1

4

6

Set C - Position $

2

. Divide 63 into 7 equal groups. D

1
L
QI

. Divide 40 into 10 equal groups. C]

. How many shares of 6 are there in 507?

D remoinderD

. Divide 50 into 7 equal groups.

D remoinderD

. How many equal groups of 8 and left overs

are there in 60? G remainderC]

Follow the directions to find items on the supermarket shelf. Start where the X is
for each instruction. (Write a., b., c.. d. and e. on the appropriate squares.)

a. What item is found 2 up bleach | Washing| washing|  stain | fabric | iron pegs
and 3 to the right? powder| liquid |remover| softener| spray

b. What item is found 1 down bread | com
and 2 left? flour | sugar rice pasta | ceredls crumbs| flour

c. Give the position of the balloons| lollies | choc. |crackers| nufs | chips dip
ceredis.

d. Glye the position of the condi- | sham- | toilet X | tisues | soop [powder
chips. tioner | poo roll

e.What item is found 3 up lemon- | ginger | soda
and 1 right? juice | mik | cola |orange | 4o | peer | water

o}




Unit 3

Set D - Ali Sorts Set E - Fractions 7
1. The Roman numeral for 18 is[:]
2. Share $60 between 5.@

3. How many 10 centsin $1.107 |

4. Write 483 in words.

1. Four hundredths as a decimal lst

2. Write 0.26 as a frocﬁon.D

3. What fraction of one
hundred is seventeen?

5. The place value of 6 in 364 isD

6.@—29:46
7.8Iofsof9=D

8. Cost of 6 apples @ 55 cents each. S[j
9. 5 numbers before 403 isC]

10. A pentagonal prism hos[j faces.

11. 60, 54[3[:] %D

12.Add the days of July and AugustC]
13.How many 7'sin &?D
14.Two hundred and

sixty-four in numerolsD [

6. 18 hundredths as a decimal is@

7. 6 hundredths less than 0.86 isC]

8034+015= |
9. & asadecimal is@

10. Arrange in ascending order:
0.83, 062 014, 043 051

RENEERN NN

— E=8Brx —
DLA-FK H L 3)
1L BHAMTZIHPFR

o

2. R6OTTE D5 Ao

3. L.10TPBEB/HTI0D?
4. 48%1FfE_

5 364P 6y M UER
7. 879=__

8. ERBT558, 6THER
BHEY T

9. A0 EMNESTHR

o

—THEEREE T

10.
EO
12. REAHBN/N\BHNX
8,

13. 63PBLT7?

4. ZBATIEEE___ .

EH-4r 87
L BS4zZ20&kRhER
2. 026k RDME .
3. +tta—BRNASZ
ne
6. BAZIBL RN NEE

]

7. HH0.86/DEDZ6NNH R

SetF-Mass 10
1. Use shorth and to write the following masses.

a7 kilogrcms@ b. 23 kilograms c. 5 kilograms + 8 kilogrcms[:]
d 14 kilogrcm@ e. 3 kilograms + 2 kilograms =© £19 kilogroms[j

g. 20 kilograms less 18 kilogrqms[j h. 9 kilograms . 7lots of 10 kilogromsD

2. Read the masses for the different items, then complete.

C oo
4kg
chair

a. Total mass of potatoes b. How much heavier is the boy
and 2 bags of onions is than the girl?

¢. The mass of 18 bricks is@ d. The mass of the gifl and chair IsEj

9. weikRABEBR_ .
10. B TRSHBMNBK
BV HEBU R 3K

F:H-E B10
BTINEBEREER

7F% b, 23FH
5F5%+8F5% d. 14T
ITR+2FR £ 19F%
20F R KI8T =
9352 i. 7T10F%
2. BETHRANRNE
B, ERAENOVGS,
POTATOES + 2 (H%0)
Onions #% (A #)

a —H1ISMANFRNE
2R

b. BB UZED/H?

C 1BRENEERR o
d ZZNBEFNEE 2

T~o0 oy~

o

- J




(— FWET

ME-REEB N
2. _T8+371T1=430
7. 54818=_
} 8. —THEBEBHDE?
10. 53683=__TTo
. 83, 9. 4VFIR__ o
12. BEXTHEERNT
#o
13. 173 .

B4H-t% M4 ;
1. 13. 20T 54. SOTTHNE -
2. BRTILISTHYSR,
f932. 00utk, BOANKRD
ZIHEY 1
3 4. 85TIRIE__ |
4. 320%= TCo ‘
5. 5. 007C3. 207T=__ JTo ‘
6. BRERT—1. 507TH)
1B, —iE. J0THNEA |
—55. 10TV E R, w—t
LT BDES
7. 1. 75T BB/
8 EWMEEZF=110:
7T, 6FREE_ T
9. 1. 00TTPEB/DT2047?
10. 3.207T + 1. 607C + 854> =
1. 5.105T = al
12. 8.405% - 2.357T =
JT i

CLH-E &4
BARBT —TNEREHR
BURZDINERTESTIE |
48, AEBREFETE |
NEEARITER, :
key @)
summer H%
autumn ARE
winter &%
spring AZXE
L ZEBTETTEEHA
B3I ;
2. AESETEENALE
E2FTEENHBD/DY
3. BRI TATHETERR
4 BEETEDTEESN
AEED BTEWTE
BRAHRD, BEAET
HEmE.

5, —H@BBTIZ/HOTEE?

- J

9. How many years in a century? '

10.43 - 28 =

11.836cents=$

+12.Thesum of 83, 9 and 4 is

13. Name this 2D shape. O -

14.617 in words is

Unit 4 _
—  SetA-Mixed Mentals - Set B - Money 4 e
L rAlT=8S 1. The sum of $1320 and $4.80is §
2 hundreds + 3 tens = 430 2. What change from $200 —
3 75, 65, 55 if | spend $1.15? o
‘ 3. Write $4.85 in words.
4. 85- =16
5.6Xx8=
! ' 4,320cents=§ |
L 6.63+77 S
5.$6.00less $3.20=$ |
| 7.9x9= 6. Margo bought a pie for $1.50, a can of
| - drink for $1.30 and a packet
| 8.54less 18 = of chips for §1.10. How much ™
- did she spend altogether? =

7. How many cents in $1.75? 1‘,”_ ‘

)

|
J
S

5. The cost of 6 kg, f Tkg cost $1.101s$ ||

9. How many 20 cents in $1.007

10.$3.20 + $1.60 + 85cents = |

11.8510=1 ' cents

12.98.40 - $2.35=§ '

SetC-Graphs4 - ——— s

(keylj:l)

summer

autumn

winter

spring

i A Year 4 class was asked in which season their birthdays fell. The results are shown in the
. column graph.

1. Which seasonhas .
the most birthdays?

2. How many more birthdays ~—
in summer than in winter? |

3. How many birthdays are
celebrated in autumn? | |

4. How many more birthdays in the
'most birthdays' than . ~—.
the least birthdays'? -~

5. How many children
were surveyed? ’




q

Set D - All Sorts
1. XL in Hindu Arabic is .

S
5. The value of 9iN 917 is| \

“680-32=[ |
7. 6lotsof 4 =|

N

8. 5 bananas cost $2.00, How | |
much would 1 bananacost? _______

9. 17 less than 65 is|

10. A pentagon hosD sides.
; 0 |
.12, 24, | . |

Jo
T
12. How many days in 3 weeks? |

13.5hare $84 between 12 people. §| |

14.Write four hundred and ||
eighty-nine in numerals. L

Set F - Volume 11

Set E - Calculator

1627-186= |
2. 758 + 554 =
3. Add159andgsd |

4. How many times can 50
be subtracted from 700?

5. How many times can 83
be subtracted from 3327

6 75+82=D
7.305+  |-888
s |-157-93

9. How many times can 60
be subtracted from 720?

10.385-198= |
n/ |+572=985
12.920-567= |

Different containers were used to find how many times each was needed to fill a

half litre measure. The results were graphed.

3

J

a. What is the capacity of | R
the butter container?

b. What is the capacity h
of the egg cup? )

c. How many egg cups would

be needed to fill a glass?

d. How many butter containers would
be needed 1o fill a 1 liire measure?

— FMHT

DLA-% H 4 5]
1. FIDYFX R 69
BYFE
3. 8.507T=___ 4.
4. 502iFE_
5. N7IMMAIER .
7. 6M4=____,
8. SIREE?2. 00T, HRE
EB/D&?
9. th65/M7NE=__ .
0. —PRBEE__Fib.
12. 3ITERBRB/IHX?
13. HBBATTEDLE12T A,
8gA____T.
4. Oa/N\+NBfE_

E4H-i+ W 2%
3. 159586448 10 ,
4. 7008 %500 L &k B /)
x?
5. 3328 E83TURDB /D
e
9. 7208 % 60T L & B /)
ne

=

FER- R/ EFR11
BEASERGNSRIE—
TEFVESRRFEN, Dl
SHBNWEEIIBERD
IDRABERBXTER. BT
FOEREENTER,

o REBPNAEFIFTRED
me

b. WEHNBRED/H?
¢ BE-TEEHRERBK
MEADHRBEH?

d BE—THNEIEFE
KEERASHORFES NS
F9?

half litre #4

BUTTER #ith
AN

B




— FhBT B

MB-ZEE S
2 5 FRBRBERERAR
3. 0.35LRDER .
4. 5399V MAIER .
5. 661 T67
7. 28, 43, 9NA2_ .
10. 3R e,
N YRENSIHPFR

12. REETANRR,
13. 396i%{E_ .

14. BONEIIDB6T
A BA___ 5

BLH-H 8/ 8012
1. K853t MR ERTE
¥,

Hundreds
Tens -+{%
Units AM%
2. OB/N\+NBE o
3.285=__@+_T++_ 71

ERC2

4 mEZ2. 8. 6HAIHT

BER/TNBRHE.

5. 6IMEE_

6. STB2THIT—=__,
7. BTRBSERBMANE
KOV HSNER

8. 752p8/BHT—?
9. 870MBMIMNIBER_ .
10. 153i%IF__ .

CeH-1E /M1
—TEFEEE20TER,
AEFEFHSHHEENR
BREE T UiD:
BENE HNsX
s NERD
20T BERPESTLUR, 47T
B, 4T8®IR, 2T&KR,
TERR. IRTEE—T
KEABREROE, B4
IREFTISHIRABRD
%UEM—'*‘%
A red ball
A green ball —A%IR
A black ball —AE3kK
Another red ball

B —ANEk
Another green ball

H — AR
A yellow ball —A&3K

—y

—A~gr3k

_

. _/

Set A - Mixed Mentals

1. 12x6=@

2. 5 kilograms in shorthand is D

3. 0.35 as a fraction is [j

4. The place value of 9 in 539 is D
5. How many groups of 6 in 667 C]

6.62-D=17

7. The sum of 28, 43 and 19 = |

8.7x7= N

9.72+8=
10.There are D minutes in 5 hour.
11.The Roman numeral for 19 is C]

12.Label the angle. E -

13. Write 396 in words.

14.60 cents shared evenly
between 6 peopleis C] centseach.

Set C - Chance/Data

SetB - Numeration 12 ———
1. Draw 853 on the place file.

®undreds Units
2. Four hundred and

eighty-nine in numerals is D

3.285= D hundreds + O tens + D units,

4. Arrange 2.8,6 to make the [:J
largest number possible.

5. Write 614 in words.

Tons

6. 5 hundreds + 2 tens + 1 unit = B

7. Arrange in ascending order:
415, 145, 541, 154, 451

o)
8. How many units in 7527 C]

9. The value of 8 in 870 is D
10. Write 153 in words.

A box has 20 coloured balls. Chances of drawing out coloured balls are:-

EXCELLENT], [GOOD}, (FAR], (NOT LIKELY]

There are 8 red balls, 4 blue, 4 green, 2 yellow and 2 black balls. Without replacing
the balls, what are your chances of drawing out:

a. A red ball

b. A green ball

c. A black ball

d. Another red ball

e. Another green ball

t. A yellow ball




